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Question Number : 1 Question Id : 70819119024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819162221, IM LTI

/ 1
70819162222. Lol

a7 0 )
70819162223, MY LOT]

—~ =]
70819162224, 1L €]

Question Number : 1 Question Id : 70819119024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819162221, IM LTI

/ 1
70819162222. Lo

a7 070
70819162223, MY LOT]
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70819162224, 1L €]

Question Number : 2 Question Id : 70819119025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819162225, 45> m

70819162226, 25 m

70819162227, 50 M

70819162228, 20 m

Question Number : 2 Question Id : 70819119025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162225, > m

70819162226, 25 m

70819162227, 50 M

70819162228, 20 m

Question Number : 3 Question Id : 70819119026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819162229, 28 sind
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7
5 g

70819162230, 8 Sin

IUUS
70819162231, /8 smb



o |

en |k

g sinb
70819162232.

Question Number : 3 Question Id : 70819119026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162229, 28 sind

.
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70819162230, 28 Sin

lﬂvﬁ
70819162231, /8 Sinb
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g sinb
70819162232.

Question Number : 4 Question Id : 70819119027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

Options :

70819162233, 100 N

70819162234, 287 N

70819162235, 20 N

70819162236, 029 N

Question Number : 4 Question Id : 70819119027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162233, 100 N



70819162234, 287 N

70819162235, 20N

70819162236, 029 N

Question Number : 5 Question Id : 70819119028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

P1 1(Py, V1, Ty)

1
Py 2 =constant

2(Py, Vo, Ty)

Options :

70819162237.

70819162238. V2

b2 | =

70819162239.

I

70819162240.



Question Number : 5 Question Id : 70819119028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819162237.

70819162238. V2

b3 | =

708191622309.

70819162240, 2

Question Number : 6 Question Id : 70819119029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement I :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :

Options :



70819162241. Both Statement I and Statement Il are true.

70819162242, Both Statement I and Statement 1l are false.

70819162243, Statement 1 is true but Statement 11 is false.

70819162244. Statement 1 is false but Statement 1l is true.

Question Number : 6 Question Id : 70819119029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819119030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :
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Options :

70819162245.

70819162246.
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AR
70819162247.

[ 111
m.—

-
70819162248. V&

Question Number : 7 Question Id : 70819119030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162246.

fm

A
70819162247.
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Question Number : 8 Question Id : 70819119031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y = — and it is moving along negative x-direction. Then the initial phase

angle g will be :

Options :

w| g

70819162249.

5n
70819162250. ©

o4

70819162251.

70819162252. e

Question Number : 8 Question Id : 70819119031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
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70819162251.
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70819162252.

Question Number : 9 Question Id : 70819119032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A d‘.arge ’q’ is placod at one corner of a cube as shown in t’igure. The flux of electrostatic field
—

E through the shaded area is :
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Options :

q
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70819162253.



70819162254, €0

8cy
70819162255.

70819162256~ °

Question Number : 9 Question Id : 70819119032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foarpta @&l waa o ol e/ #fame s afFe e fifee @A (Trws) (e A
wYe CRE | 9 FE 0 T O T

7.

Rl

4

X

Options:

70819162253, B0

70819162254, €0

82‘.{}
70819162255.

70819162256.



245“

Question Number : 10 Question Id : 70819119033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Andmtmrwﬂmhmﬂcmm%yK“mmﬁhmwmnpmﬂbIﬁMﬁofampmﬂmatmnmge
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819162257, €05«

cosfp

70819162258, Sina

sin ZB
cos’a

70819162259.

cos‘zﬁ

COSEE‘E

70819162260.

Question Number : 10 Question Id : 70819119033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162258, Sina

sin 2[3
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70819162259.
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70819162260. %

Question Number : 11 Question Id : 70819119034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819162261 a 111acr05cnpic region with zero magnr_-tizatinn.

70819162262, & macroscopic region with saturation magnetization.
70819162263, & macroscopic region with randomly oriented magnetic dipoles.

70819162264, d MAaCroscopic region with consecutive IHHBIIC'T_‘[C d[pDIOS oriented in OppDSLtD direction.

Question Number : 11 Question Id : 70819119034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819119035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45°. If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819162265, 1 A

70819162266, 1.5 A

70819162267, 2 &

70819162268, = &

Question Number : 12 Question Id : 70819119035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819162265, 1 A

70819162266, 1.5 A

70819162267, 2

2
70819162268. St

Question Number : 13 Question Id : 70819119036 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options:

70819162269, U9 nm

70819162270. 320 nm

.l
70819162271, 02 nm

70819162272, 400 nm

Question Number : 13 Question Id : 70819119036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819162269, U9 nm

70819162270. 320 nm

¥l
70819162271, 02 nm

70819162272, 400 nm

Question Number : 14 Question Id : 70819119037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819162273. ils s1ze IncCreases, and II‘lf.C‘I‘lSIT.}-' IMcreases

70819162274. ils size increases, bul intensity decreases

70819162275 its size decreases, but intensity increases

70819162276 its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819119038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same spr_-od.

A
The ratio of their de Broglie wavelength M will be :
Mproton

Options :

70819162277.

70819162278, 1836

70819162279, 1836

70819162280. 718

Question Number : 15 Question Id : 70819119038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819162277, 1

70819162278, 1836

70819162279, 1836

70819162280. 718

Question Number : 16 Question Id : 70819119039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emilted b}-‘ a h}-‘drogen atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819162281, 121.8 nm

70819162282. 194.8 nm

70819162283. 490.7 nm

70819162284, 9133 nm

Question Number : 16 Question Id : 70819119039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) TRGTE AAA TR 2 n =2 FF (U3 n =1 F0F W@ A, 578 @hia S ;
Options :

70819162281, 121.8 nm



70819162282, 1948 nm

70819162283. 490.7 nm

70819162284, 913.3 nm

Question Number : 17 Question Id : 70819119040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency 'I_fm’ is amplitude modulated with a carrier signal of frequency
‘f.” and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819162285. fe = Jm

C

70819162286. fe t fm

L

70819162287. J

C

70819162288.'ﬂ”

Question Number : 17 Question Id : 70819119040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819162285.

70819162286.

Question Number : 18 Question Id : 70819119041 Question Type : MCQ Option Shuffling

C

fe = fm

C

fe + fm

c

70819162287. fe

C

70819162288. Jom

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For extrinsic semiconductors; when doping level is increased;

Options:

708191622809.

70819162290.

70819162291.

70819162292.

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type
semiconductor will go upward.

Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > T;; K and
downward for T < TF K, where TF is Fermi temperature.

:Yes

Question Number : 18 Question Id : 70819119041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options:
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Question Number : 19 Question Id : 70819119042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List 1.

List I List 11
(a) Rectifier ()  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (ii) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (iv) Used for constant output voltage even when the input voltage

or load current change
Choose the correct answer from the options given below :

Options :
70819162293, (@)-(), (b)-(i), (¢)-(iii), (d)-(iv)
70819162294, @)-(11), (b)-(1v), (c)-(1), (d)-(iii)

70819162295, (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

20819162296, (@ (ii), (b)-(iv), (c)-(1), (d)-(ii)



Question Number : 19 Question Id : 70819119042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
faram wife & 75
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Options :

70819162293, @)-(i), (b)-(1), (c)-(iii), (d)-(iv)

70819162294, (@)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
70819162295, (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)

70819162296, @)(iid), (D)(iv), (c}-(), (d)-(ii)

Question Number : 20 Question Id : 70819119043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The truth table for the following logic circuit is :

A

}
} Y

B »
Options :

70819162297.



0 0 0

0 1 1
1 0 1
1 1 0
A B b |
0 0 1
0 1 0
1 0 0
1 1 1
70819162298.
A B b §
0 0 1
0 1 0
1 0 1
1 1 0
70819162299.
A B Y
0 0 0
0 1 1
1 0 0
1 1 1
70819162300.

Question Number : 20 Question Id : 70819119043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ae [ X
_/
B
B e | ok
Options :
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819162297.
A B ¥
0 0 1
0 1 0
1 0 0
1 1 1
70819162298.
A B Y
0 0 1
0 1 0
1 0 1
1 1 0
70819162299.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819162300.




Physics Section B

SectionId: 708191809
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911089
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses 4 g and 16 g respectively are moving with equal kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819119045 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

: X E
of escape velocity v, such that o; = |'— X vy. The value of x willbe

\y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119045 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
@ T <43 o (TS TETOA 10 R THOR S 20A @ TR el ool (v,) g FA

.
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Y

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119046 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if

the tension is increased by 4%, willbe %,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819119046 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819119047 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If P xQ=0Qx P, theangle between P m\da is 0 (0° < 6 <360°). The value of ‘6" will be

L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119047 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M PxQ=Qx PR P @ Q &S @0 @TAZTA(0° <0309
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source willbe .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a7l Ao (fremiee) el 3egm el Tt 120 2 oem v v wen ey #ffoe w1 3
T 41T (1) S 52 K 3 0 3 O Hgeia e wed weem faad =) Tom drisE
TN @At |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819119049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small sphoros each of mass 10 mg are susponded froma point b}-‘ threads 0.5 m Inng.
They are equally charged and repel each other to a distance of 0.20 m. The charge on each of

g e )
the sphere is 1 x 10 SC. The value of ‘a" will be

[Given g =10 ms 2]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 mg TTAA b AP (IFRE (.5 m 7791 278 7 Lo A0 G5 7 TF QA SRl 87
T T HMES FA0E @0F SR (ATF 0.20 m Y S AN AT (A AR T

o X 0 Cma, o @

[o=10 ms 2 #wg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119050 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of (.5 m. The
electrostatic force acting between the spheres is _ %1077 N.

i
Given : 4mwe,= —— Sl unit
| 0 9% 10° ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819119050 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TR SITOTR 4o A #fAZ! (TS IUEH 2.1 nC §@8 (0.1 nC HTA SNZS F91 28 OHa
T SO T T WO A 0.5 m Y AN T | OO W et e wfes e W
_x107? N |

[4me,= SE

x 107
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119051 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The peak electric field produced by the radiation coming from the 8 W bulb at a distance of

. X [upc V o . . : - ) ;
10 m is E \’— — . The efficiency of the bulb is 10% and it is a point source. The value of
T m ’
Xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119051 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
a7l 8 W e 36 @@ 10 57 3 Teom e (Fa oRvema §Y T T 73 I el v

G s ok gt ¥
10% @3¢ s oy S Brra @ = fﬁ‘waﬁim,‘l‘&? (¥ T, A 1 @7 T
i I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819119052 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle POR having 3 wires of resistance
2 () each and leaves by the comer R. The currents "'1 in ampere s ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 29 Question Id : 70819119052 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Toraa 79T WpIa @ TR, fEgs PQR 9 efef aga @ 2 (), 3 «fba P 7 g 6 A #dr
o e R e, v @mmEs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119053 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelength of an X-ray beam is 10 A. The mass of a fictitious particle having the same
energy as that of the X-ray photons is %h kg. The valve of x i8 . . ..
(h=Planck’s constant) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819119053 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
a7l X Afm T 10 A | 30 Fmfe o ofe «fE o @3 X 2P @b fea w2 o

4% F1Ma =4 703 %hkg | x @I | (h=9T% &)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191810
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911090
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?

Options:

4

Xe 4
70819162311.

SiF,
70819162312,

70819162313. i

BF,
70819162314,

Question Number : 31 Question Id : 70819119054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TToa TAMSEE T TH08 THACTE ST ?
Options:

XC‘F4
70819162311.

SiF,
70819162312,

70819162313. 24

BF,
70819162314,

Question Number : 32 Question Id : 70819119055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10 0]

Options :

I3

70819162315, 1-11x10

70819162316, 1-11x10 ¢

I3

70819162317, 1-77 % 10

70819162318, 1.77 %10

Question Number : 32 Question Id : 70819119055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&& Ca(OH), 99 9419 25
[(rem =Tz T8 &CA Ca(OH), -3 RISl 9% 5.5 x 10~ 9]

Options :

[iB*)

70819162315, 11110

70819162316, 1-11 %10

I

70819162317, 1-77 % 10

70819162318, 1-77 %10

Question Number : 33 Question Id : 70819119056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is FALSE for hydrophilic sols ?



Options :
70819162319. They do not require electrolytes for stability.

70819162320. These sols are reversible in nature.

70819162321. Their viscosity is of the order of that of HZD.

70819162322, The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
70819162319, A Z199 &+ 22MCTA wioefarem smrela waeE 23 =

20819162320, 92 T ToA o TR

70819162321, 77 TS| TCAT AFTOH HH FAeA |

70819162322, “ToH FI20E S 1 AR AT

Question Number : 34 Question Id : 70819119057 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The correct order of bond dissociation enthalpy of halogens is :
Options :

70819162323, 127 Cl> Bro> I



70819162324, 12~ B> (>

70819162325, —12” Bra> F> I

Cl,>F,> Br,>1
70819162326, — 2 2~ "7 2

Question Number : 34 Question Id : 70819119057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
70819162323, F2” Ch> Bro> I

70819162324, 127 Bro> (> Iy

70819162325, 2~ Bra> Fr> 1

1.>E>Br>1
70819162326, — 2 2~ "7 2

Question Number : 35 Question Id : 70819119058 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The method used for the purification of Indium is :
Options :
70819162327, van Arkel method

70819162328, 1quation



70819162329, Zone refining

70819162330, © apour phase refining

Question Number : 35 Question Id : 70819119058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819162327, S THFA “TE(

70819162328, THAEG ATl

70819162329, N7 (TEF) A0

70819162330, N W T AIHCAI=

Question Number : 36 Question Id : 70819119059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :
Options :

70819162331. H,

70819162332, €

[}

70819162333.



C,H,
70819162334,

Question Number : 36 Question Id : 70819119059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A I G A Fa CO Tof A =

Options :

70819162331. S

70819162332. C©

8t
70819162333, 2

-

C,H,
70819162334

Question Number : 37 Question Id : 70819119060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :

a and 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement 11 :

At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :
Options :
20819162335, Both Statement I and Statement 1l are true.

70819162336. Both Statement | and Statement 1l are false.



70819162337, Statement 1 is true but Statement 11 is false.

70819162338, Statement 1 is false but Statement Il is true.

Question Number : 37 Question Id : 70819119060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS 7i6 3fe chea oI
ﬁﬂ%l:

§7a 57 1 W3 1% FAA o FTEFE G2 B-ATFE F e 0 Tegd AEad |

fagfs 11 :

FH-TNIAE TEFAA FHS (A Fefls 28 TATA g1 N |
Toira e aier wtece Siosa Res g (s e Tea biws F4)
Options :

70819162335 3fe 1¢a2 fagfe 11 Teea2 e

70819162336. 3fe 1932 f3fe 11 TermR wrre |

70819162337, <qre 1712 fem fagfe 11 wmrer |

faqfe 1 sprer fom fagfs 11 1@
70819162338, ¢ o s g 11 v

Question Number : 38 Question Id : 70819119061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options:



70819162339, €U, Zn and Ag

70819162340, “U- Zn and Ni

70819162341, C¢ Cuand Ag

70819162342, 20 Niand Ag

Question Number : 38 Question Id : 70819119061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T EreEd g4 SammalE o9

Options:

70819162339, Cu, Zn ¥[8 Ag

70819162340, U £n 8 Ni

70819162341, ©& C1 I Ag

70819162342, Zn, Ni @3t Ag

Question Number : 39 Question Id : 70819119062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFP™ (i) [CoNHz)P* () [NiCl*~ (iv) [Cu(NHy),J**
Options:
70819162343, (1) > (iii) > (iv) > (ii)



70819162344, () > (i) > i) > (iv)

70819162345, (1) > (iv) > (i) > (1)

70819162346, (@) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qof7-TTa THIERT TN ST Spa et wiha wmmske Awed Es )
(1) [FeFﬁ]3 (1i) [CD{NHH]{.]P b (i) [NiCI__1]3 (iv) [Cu{NH3]4]3 *
Options:
70819162343, (1) > (iif) > (iv) > (i

70819162344, (i) > (i) > (i) > (iv)

70819162345, (L) > (iv) > (if) > (3

70819162346, (1) > (@) > (ifi) > (iv)

Question Number : 40 Question Id : 70819119063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :



Options :
70819162347, Both Statement I and Statement 1l are true.

70819162348. Both Statement | and Statement 1l are false.

70819162349. Statement 1 is true but Statement 11 is false.

70819162350. Statement 1 is false but Statement 11 is true.

Question Number : 40 Question Id : 70819119063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
s w6 9fe orem =me

fagfe 1:

Ayacre: BT weerd pH ~5.6.

IECICRIE

387 &eR pH 5.6 -9 I (A OLF WF B A |
Toieaa Fgfogfem wene T faen g tare Aive Teafs bfee 341
Options :

20819162347, 3@ 1«3 fa3fs 11 Teraz 7@l

20819162348, [F3Te 1 @3 fa3fe 11 Terae wrre|

20819162349, 49 17 fa fagfs 11 =prer

70819162350, [3re 1=PTel 2 faqfs 11 37er

Question Number : 41 Question Id : 70819119064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819162351, H}-‘dmchloric acid

70819162352, Sodium hydroxide

70819162353, [Vitric acid

70819162354, Ammonia

Question Number : 41 Question Id : 70819119064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
QACET #ATHa e Ao 2030 (9| Fa W TGS e A0a Te] Tl el 2 7

Options :

708191623517, 2 2CHCHTS

70819162352, CNEAH JZEHZE

Question Number : 42 Question Id : 70819119065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The major pmduct of the fnﬂnwi_ng reaction is :

NO,

/I\/
fEn
H,50,

Options :

70819162355

[:::::f§><ifjfi?

: . o,
70819162356.

@/\fa

70819162357

NO,

70819162358.

Question Number : 42 Question Id : 70819119065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tresa fRfemm gam Sermaa 79 -

-
H,S0,

/I[If;
Ol

Options :

70819162355.



NO,

NO,
70819162356,
NO,
70819162357,
NO,
70819162358,

Question Number : 43 Question Id : 70819119066 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

70819162359. : 2

70819162360.

20819162361, CHaCHCH=—CH—CHO

70819162362.



CH;CH,C=—CH,4

CHO

Question Number : 43 Question Id : 70819119066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Trea fAfEEm dam TermEans o9 ¢

H,/CO

Rh S=0%

CH;CH,CH=— CH,

Options :

70819162359. 3

70819162360.

20819162361, “HaCHCH=—CH—CHO

CH;CH,C=—=CH,

70819162362. CHO

Question Number : 44 Question Id : 70819119067 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethyl benzene
from benzene is :

Options :

70819162363. CH,COCI/ AlCI, Br,/ AlBry, HNO3/H;50,, Zn/HCI

70819162364 CH,COCl/ AlICl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,



70819162365, Bra/ AlBry, CH,COCI/AICL, HNO,/H,50,, Zn/HCI

20819162366, HNO3/HySO0y, Bry/ AlCly, CH,COCI/ AICL,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119067 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAG T2TF 4-TAT-2-NEGIRARA [@ige wfere qriafem eee Ia2raa s o

Options :

70819162363, “H13COCY/ AlCl;, Bry/ AlBrs, HNO3/H;S0,, Zn/HCI

70819162364 CH,COCl/ AlCl,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,50,

70819162365, Br,/AlBr,, CH,COCI/AICl,, HNO,/H,50, Zn/HCIl

70819162366. HNO,/H,S0,, Br,/AlCl,, CH,COCl/AIClL,, Zn-Hg/HCI

Question Number : 45 Question Id : 70819119068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the OHO‘WiI‘Ig compoumis ig :

COOH COOH COOH
CH;
I 11 111 IV

Options :



70819162367, 1> 11> HI>1V

70819162368, I > M >1>1V

70819162369, 1> I >V >1

70819162370, 1V > M >11>1

Question Number : 45 Question Id : 70819119068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ferafers theakE wiEs sk wee o= 24
OH COOH COOH COOH
NO, CHj
I I 11 IV
Options:

70819162367, 1> 1I>HI>1V

70819162368, I > >1>1V

70819162369, 1> I >V >1

70819162370, IV > 1> 11 >1

Question Number : 46 Question Id : 70819119069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
What is ‘X’ in the given reaction ?

CH,OH o
+ oxalic acid L X

CH,OH (major product)

Options :
CHO

70819162371, <11

CH,OH

70819162372. S

70819162373.

CH—OH

|
CH,
70819162374,

Question Number : 46 Question Id : 70819119069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v fafEwm X § 7
CH,OH i
| + e wmpre —210°C
CH,OH (211 TeemEar)
Options:
CHO
CHO

70819162371.



CH,OH

70819162372. SR

CH,

70819162373. S

CH—OH

|
CH,
70819162374

Question Number : 47 Question Id : 70819119070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HNO;, H,50, N2
: - - +
288 K 5
N2
NO,
(A) (B) (€)

Correct statement about the given chemical reaction is :
Options :

70819162375, —NH, group is ortho and para directive, so product (B) is not possible.

70819162376, Reaction is possible and compound (B) will be the major product.

70819162377 The reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819162378.



Question Number : 47 Question Id : 70819119070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, stmgl N
288 K
\102
ﬁ.] (C)
Options :

20819162375, —NHo T @72 a2 =77 Fers | o (B) Beemiat vgd |

20819162376, R 7 a2 (B) TN 2141w Somaa|

70819162377, NZaea Afdars RfFfl AewFraie g Terme T

70819162378. A& A7 @32 (A) TG 24m Sermga|

Question Number : 48 Question Id : 70819119071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carb}-'lamino test is used to detect the presence of primary amino group in an organic
cnmpnund. Which of the foﬂf}wing cnmpnund is formed when this test is pr_-rfortmd with
aniline ?

Options :

NHCHj,
70819162379. :

70819162380.



CN

: . NC
70819162381.

CONH,
70819162382, :::

Question Number : 48 Question Id : 70819119071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GFT) (5 T ANATE SO ToAF TS R Gl T S-S #fa 1 T 2| S F 43
2 A S T Tl Teom 2

Options :

NHCH;
70819162379. :i:

CN
70819162380. ::::

NC

70819162381, ::::
: _CONH,

70819162382.



Question Number : 49 Question Id : 70819119072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of a-anomer of maltose ?

Options :
CH,OH CH,OH
H o H H 0. H
H I
H H H H
HO OH
70819162383. HO  OH HO  OH
CH,OH
H O. OH
H
H
HO H
70819162384, OH
CH,OH CH,OH
H ——o0o_H H 0 H
H H
OH H )_|<'JH H
HO OH
70819162385. H  OH H  OH
CH,OH CH,OH
70819162386.

Question Number : 49 Question Id : 70819119072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferfetae Aegfosfem T (P TEO0Ea o-SHL-TEd Ao 7S ?

Options :



CH,OH CH,OH

H O H H 0. H
< i
H H H H
HO OH
70819162383. HO OH HO OH
CH,OH CH,OH
H ——0O. H H . OH
H I
}<;)u H OH H
HO H
70819162384, H OH H OH
CH':IC'H. EHZDH
H 40— H H 0 H
H H
<~3H H OH H
HO OH
70819162385, H OH H OH
CH,OH CH,OH
H +——0o H H 0  OH
H H
H H H H
HO H
OH OH HO OH
70819162386.

Question Number : 50 Question Id : 70819119073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni?* is carried out by dimethyl glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819162387, both Statement I and Statement II are true.



70819162388. Both Statement I and Statement 1l are false.

20819162389. Statement 1 is true but Statement 11 is false.

70819162390. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 7H-fge rea =me -
fagfe 1:

NH,OH ¢7 Teifgfers wafiaza azssizs a@ Ni2* -aa Faasad Aahe 23|

feqfe 11 :

TRAAZH AT G e (IRCTo0) e Fome |

Tt Tqfeafer sees Sioa en gl taee e Teah biee #4
Options:
70819162387, [are 1@ fgfe 11 TeCaR o

20819162388, (4T 132 f3fe 11 Teraz =mre

20819162389, ¥a1® 17%% g fagfs 11 wprey|

70819162390, 41 1=PTe & fagfe 11 ey

Chemistry Section B

SectionId : 708191811

Section Number: 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911091
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819119074 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 45 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819119074 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e SO 1.25 M ¥39 @a1 NaOH a0 Sert farasal a1 eparwe fmvre Aivs uas-
Ao NG o7 |

(i) 45 mL (i) 45 mL (iii) 44 mL

(iv) 44 mL (v) 44 mL

10.0 mL STCA SEEE SIOE Tl 16T 2F Ae0e NaOH W20/ Tt M.
(Feraben #jefsiem)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119075 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/m?is __

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119075 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-« &F TFH, 35% A qR-TR @@ offe @ e O O WOE SeEte e o
IS T Afem | ‘kg/m> @3 Fifo TR T

(478 : Cu -«3 TETE ©4 : 63.54 g ; SOCSEMTG! A2qM=6.022x 107



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig. . (Rounded-off to the nearest
integer)

[h=6.63x10 M Is, ¢=3.00 x 108 ms 1, N, =6.02 % 102 mol l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

419 A -7 *ANIIE TS FAE G 663 nm TAHCTIA T EFTIA QA9 AIFONA TRE|
k] mol ! ¢3(F 419 A -«@ G afe | (Frben )

[478 h=6.63 x 1034 s, c=3.00x10% ms 1, N, =6.02x 102 mol ~ 1]
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819119077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis k] mol ~ L, (Rounded-off to the nearest integer)

[Use R=8314 ] mol~ K]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.3 MPa 3 3% w8 0 293 K Oefra <& o i 5 T e Amerd dEiesE b
2.1 MPa 227 St 5% 1.3 MPa T8 #7929 | @3 2@ #fai2e wrem 4w kf mol ! &3
W K mol 1 (Fabew #|¢Fe4m)

[#78 : R=8.314 ] mol 'K~

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 55 Question Id : 70819119078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solutionis _____ molal.
(Rounded-off to the nearest integer)

[K,, =052 K kg mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T Fd @5 @9 AB 75% RfEe 2377, wad ghanEd 2.5 K Ifa . @9 e
s 2 e (feRiben #efsie)
[K;, =0.52 K kg mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119079 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Copper reduces NDE into NO and ND2 deponding upon the concentration of

HNO; in solution. (Assuming fixed [Cu?*] and Pyo= PNOEJ, the HNO, concentration at

which the t]‘nermf}d}fnamic tendm\c}-‘ for reduction of ND; into NO and ND2 b*., copper is

same is 10" M. The value of 2x is . (Rounded-off to the nearest integer)

{ i . o === r | \D — ] | \n = 7
[Given, E(:u2+f(:u 0.34 V, E?\ID;[?\ID 096 V, E}JDU}JOE 0.79 V and at 298 K,
RT

5 (2:309)=0059)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119079 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
7 HNO, ¢7 STorgd T foréa aea Wl NO; 7@ NO @@ NO, T8 faafae #a | [[Cu?t]

wafafée AT §as Py, =Py, ¥ 0] HNO, @4 T STeg NOj -9 @A &/l NO €3¢ NO,

7 REaTm Ofs-1a@ 279 M, 9 24 10° M. 20-¢7 T | (Fraoew #fAe4)

T ; 0 . y .‘0 o - . LD N7 8 =
27, Ecufwcu =034V, E.\Io;,rm 0.9V, Emgmc}j 0.79 V @32 298 K S1#1ay
RT

- (2:308) =0059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 57 Question Id : 70819119080 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol By i L (Rounded-off to the nearest
integer)

[R=8314] K~1 mol 1]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119080 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 27°C T3 52°C 3ad TF GFh 3 o1 539 #1599 AT k] mol ~ | (3 W *f@a
T | (FEew epee)
[R=8.314 ] K~! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119081 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal/s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li B) Na (C) Rb (D) Cs



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119081 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
TEa g O @ @ 419 SEAAR [IEE Tos-Ta ZOTa T/Te 28 a7l
(e Tea)
(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819119082 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 59 Question Id : 70819119082 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
GEY B G S SRR (AT Ao 29) N He wNE TE  BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119083 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH groupis .
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D) Ascorbic acid
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119083 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



frafeiie @@arafE T @ @ @9/@PEs —COOH T3 WTR ©1d 72

(#fef T1eamg Teq)
(A) TR ST B) @l wb
(C) =i (D) PRI SFTE

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id: 708191812
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911092
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819119084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1 o .
If for the matrix, A = { ﬁﬂ , AAT=1L,, then the value of o? +p4is :
T

Options :

70819162401, 4

70819162402,

2
70819162403. ~

70819162404, >

Question Number : 61 Question Id : 70819119084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#mﬁﬁmﬁmﬁ={ ;LETEAA“ﬂTﬁﬁwMﬁ%ﬁﬂTﬁﬁ:

|
| i
Options :

70819162401, 4

70819162402.

]

70819162403.

70819162404.

Question Number : 62 Question Id : 70819119085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let A be a 3 x3 matrix with det(A)=4. Let R, denote the it row of A. 1f a matrix B is
obtained by performing the operation R, — 2R, + 5R; on 2A, then det(B) is equal to :

Options :
70819162405, 1©

70819162406, 20

70819162407, ©*

o
70819162408. e

Question Number : 62 Question Id : 70819119085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qfa A @& 3 x 3 W3, T2@ det(A) =4 @32 R, A~ -3 A4| 9o @3 TIHHA B, 2A 97 127
R, — 2R, + 5R,, 4TS FTA 21941 I, WA det(B) <& T+ 23 :

Options :

70819162405, 1©

70819162406, 5V

70819162407, °4

)
70819162408, 128

Question Number : 63 Question Id : 70819119086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The following system of linear equations
2x + 3y +2z=9
3x+2y+2z=9
x—y+4z=38

Options :

70819162409. does not have any solution

70819162410. has a unique solution

70819162411. has infinitely many solutions

70819162412, has a solution («, 5, v) satisfying « 1 BZ++3=12

Question Number : 63 Question Id : 70819119086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2x + 3y 4
3x + 2y

Options :
70819162409, Crre1 FHIHI 209 =TI

70819162410, &% €A B T 274

70819162411, P T 209

70819162412, S0 T 203 (o, B, ) T2 B 0= o+ p2 447 =12

Question Number : 64 Question Id : 70819119087 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If I, = |cot"xdx, then :

B e

Options :

1 1 1

, ’ are in A.P.
20819162413, 12 T1la I3 +1s Is+lg

I2 [ 14, I3 [ IS, 14 [ I.s; are in A.P.

70819162414,
.l - . in GP
r ' are 1n 5

20819162415, 12 1o Is +1s Iy 4 s

Question Number : 64 Question Id : 70819119087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i
.4
T I, = Icnt”x dx , =3 :
aT
4
Options:
: = - AP TS 44|
d ! Y W i A
70819162413, 12 T1a B3 +1s L+ s
20819162414, 2Tl L t1s Ii+I, AP. TS 43|

1 1 1
L +1g Iy +15" Iy +1g°

G.P. TS =3 |
70819162415.



2 5l L
20819162416, 12114 (L H15)7 Iyt 1g G.P. T8 AR |

Question Number : 65 Question Id : 70819119088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

A function f(x) is given by f(x) = , then the sum of the series

5° +5
f|£| |:-r;[]| |7"U """" |'7'U
is equal to :

Options :

70819162417.

70819162418.

L
tx.}| s

70819162419.

S
!d|\5

70819162420.

Question Number : 65 Question Id : 70819119088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A f(x) ATE, TANCA f(x) =

|7D f|?ﬂ |?U """" |2U
«F TASEFCEE T 20
Options :
29
2

70819162417.

m|ﬂ§;.

70819162418.

39
2
70819162419.

=
I\J|\5

70819162420.

Question Number : 66 Question Id : 70819119089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2a
Let a.and pp be theroots of x2— 6x—2=0. lfa =a"~p"forn = lthenﬂmvalueof¥
Sy

15

Options :

W

70819162421.

70819162422.

I~

70819162423.



70819162424. .

Question Number : 66 Question Id : 70819119089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. , = a 2a
Wmmwxmwﬁ%ﬂﬁﬁvwmmumwm%%JWa
: ag
a4 29 ;
Options:
70819162421, *
70819162422, °
2
70819162423,
70819162424, |

Question Number : 67 Question Id : 70819119090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The minimum value of f(x)= a® +al "rt, where a, x = R and a > 0, is equal to :
Options :

70819162425, 2 11

1
a -4 it
70819162426.



70819162427.

2
70819162428.

Question Number : 67 Question Id : 70819119090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% f(x) =ad" +al ~a", AT a2, x € R @2 a > 0,90 f(x) G7 3w T4 24 -

Options :

a+1
70819162425,

-y
70819162426. o

2./a
70819162427.

2
70819162428.

Question Number : 68 Question Id : 70819119091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oy, 2y Nog. 2x

: g Dbe + He= 5e

The integral _[ i
2 o

» - } - ’ .
I 503]0&1 ;:*,:.2]“&4' dx, x >0, is equal to :

(where c is a constant of integration)

Options :

—a

log,. 2 +5x—-7|+c
70819162429.



J 2 R
70819162430, 1108l ¥ 51~ 7|+ ¢

=

1 y
IIG&A-IS,'L 7|+
70819162431.

=

log. Vx® + 5x ke

70819162432.

Question Number : 68 Question Id : 70819119091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D':E]UEF 2x | 502]:)&‘ 2x

.[-ur- 3logx Togx XX >0 AT
e E'.‘L?.'L | 50 (?L?l :'?I:" DLP.".

(TRATCA, ¢ T FF)

Options :

log | x2+5x—7|+¢
70819162429.

. 246,
70819162430, 11086l 71X 71t C

1 i )

loglx-+hx—7]|+c
70819162431.

log. Vx* +5x —=7 +c
70819162432.

Question Number : 69 Question Id : 70819119092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, B € R are such that 1-2i (here *= —1) is a root of z2+az +B =0, then (a — ) is equal
to:



Options :

70819162433.

70819162434.

|

70819162435.

|

70819162436.

Question Number : 69 Question Id : 70819119092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M, B e R, AT 1-2i, (49 2= -1) T 2+az+p=0 G GFD 5, TA (a—p) @ T
AL

Options :

70819162433.

70819162434.

|

70819162435.

=1

70819162436.

Question Number : 70 Question Id : 70819119093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 12 23,3:2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :



Options :

T : 1 (1)
— +tan | —|
2 \ —1'/'
70819162437.
» g
2 \ 4 )
70819162438.
-'.".' (1)
— + tan 1|—-
2 \ 3‘/'
70819162439.
- g
T tan’| 1 |
2 \ 3 )
70819162440.

Question Number : 70 Question Id : 70819119093 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

MW x+y=1 A, 2 +2y7 =2 THRE P @32 Q frqre Tew a0, w3 PQ ¥ Toirqre @
T 909 913 (3 :

Options :
—_ 1%
e |
2 \ —1'/'
70819162437.
= S
2 4 )
70819162438.
-'.".' s
— + tan 1|—|
2 \ 3‘/'
70819162439.
2 \ 3 )

70819162440.



Question Number : 71 Question Id : 70819119094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The shortest distance between the line x — y=1 and the curve x?>=2y is :
Options :

e
iy
70819162441,

%]
2
()

70819162442.

70819162443.

b=

70819162444.

Question Number : 71 Question Id : 70819119094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x—y="1 FFeaY @ x% =2y ISHCAAE T4 R 798 A
Options :
g
2
70819162441,
1
2'\."5

70819162442.



70819162443.

K=

70819162444,

Question Number : 72 Question Id : 70819119095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3

iy

A hyperbola passes through the foci of the ellipse };E | P 1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :
A ]2
e R
70819162445, ° 16
2 ]1
L Ay
70819162446, ¢
2 2
NSY 4
™
70819162447, © 2
3 g
x<—1y=9
70819162448, &

Question Number : 72 Question Id : 70819119095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9

z 3
mfﬁm% | %:ﬁﬂqmwféﬁa-ﬁm%awﬁm.ﬁmwm
Toma 2 e W1 A T wEd o I 1 7, O0@ HARIeE Raead 7A |



Options :

2

S ]

LNy S
70819162445, ° 16

2 ]2

-
70819162446. :

.12 12

5 a1
70819162447.

o 3

xr~— =9
70819162448. B

Question Number : 73 Question Id : 70819119096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

—
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :

[z
]—
V3

70819162449.
B
11

70819162450.
2
7

70819162451.
2

70819162452.



Question Number : 73 Question Id : 70819119096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a3 @A A(1, 2, 3), B2, 3, 1) €38 C(2, 4, 2) Rmger ZIFEOWW R P= 1,1), %3
OP & waram Sem 7/ wfereea ol 20 :
Options :
z
|
V3
70819162449.
2
11
70819162450.
2
7
70819162451.
2
’;ill_
70819162452.

Question Number : 74 Question Id : 70819119097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. n n n :
lim | — 4 | AR f——— | is equal to :

noeln (n+1)2  (n+2)> (2n— 1)

Options:

1
70819162453.

b3 | =

70819162454.



.
3
70819162455.

1
4
70819162456.

Question Number : 74 Question Id : 70819119097 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1 n n
m | — 4 | |

nseln  (n+1)2 (n+2)>?

Options :

1
70819162453.

1
;
70819162454, ~
1
3
70819162455,
1
4
70819162456.

: MCQ Option Shuffling : Yes

Question Number : 75 Question Id : 70819119098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected

person is a smoker and non-vegetarimm 15



Options :
£
70819162457

L.
70819162458, *°

58

70819162459.

14
70819162460. 4°

Question Number : 75 Question Id : 70819119098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

43T 400 T~ 7 WFTA TS AT, 160 T (31 D1T0ah 2 G2 Se; 100 5 Homas 99 «as
A, 2 A9 140 T T AW T GAL AFRA O GF KA 0FA W@l 2297 T
FASTTH 35%, 20% @2 10%. TAFEETA & 54 TUTF (G A% 41 20 A0S The1 19 & T
Q JCFE T TG | AW T (AR FOCAD T @S ST 2978 FGR A

Options :

7
70819162457, 2

70819162458.

58

70819162459.

14
70819162460. 4°



Question Number : 76 Question Id : 70819119099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomlj,-' chosen element of A leaves remainder 2 when divided h}-‘ 5ig:

Options :
1
4
70819162461.
g
9
70819162462.
S

70819162463. ~

122

297

70819162464.

Question Number : 76 Question Id : 70819119099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

930 T A, 4 TERME TR HeAd AT GFH WE T 71 A TUS AT Fq ARaE A0 5 5
T FA 2 TEHE AT OwE TEE 24 ;

Options :

1
70819162461.

b

9
70819162462.

70819162463.



122

207

70819162464. ~

Question Number : 77 Question Id : 70819119100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If0<x y<wand cosx + cosy — cos(x +y) = ; then sinx + cosy is equal to :
Options :
4
z
70819162465.
V3
y
70819162466.
1.3
70819162467, 2
Kyl
70819162468, <

Question Number : 77 Question Id : 70819119100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b3 | L2

Wm0 < X,y < w3} cosx + cosy — cos(x +y) = —,O(d sinx + cosy &I A I ;

Options :

70819162465.



P | =

B

7
70819162466,

13
70819162467. 2

i3
70819162468. 2

Question Number : 78 Question Id : 70819119101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options:

Ey =01x
70819162469.

I3
=
[l
I3
e |
]
o

70819162470.

y=91x
70819162471.

70819162472.

Question Number : 78 Question Id : 70819119101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

3f% x O A WD GF-F SHE G A T 14T A I A 3 A0 9 @@ T B 7O AW
W FYI 5 62 y OC I TG GF-4F S A T 0% T A X BT, O
Options :

2y=91x
70819162469.

=
[l
I3
e |
L
o

70819162470, <Y

y=91x
70819162471.

70819162472.

Question Number : 79 Question Id : 70819119102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. Bt —1{ 211
cosec| 2cot " (5) + cos T| is equal to :

o S

Options:

56
70819162473, 2

65

33
70819162474,

65
70819162475, °°

75

70819162476.
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. Fi
cnsec{cht_l{S] I cos_l{é |] ¢ T TA
. 2.

".

Options:
56
70819162473, -2
65
33
70819162474
5
70819162475, °°
B
70819162476.

Question Number : 80 Question Id : 70819119103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The contrapositive of the statement “If you will work, yvou will earn money” is :

Options :

70819162477, To earn money, you need to work

20819162478. You will earn money, if you will not work

70819162479. If you will not earn money, you will not work

If vou will earn money, vou will work
70819162480. - szt
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‘A B F1E F4, T O TGS FA0S AECAT AF0A @A A6 34 ¢
Options :
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Question Number : 81 Question Id : 70819119104 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function f is defined on [ -3, 3] as

2
Jminl g2 —g L —2=gai

| [Ixl] , 2<|x|=3

fx) =
where [1] denotes the greatest integer = x. The number of points, where fis not differentiable
mi-5 8L .. ... .
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aF STEF fATTE [ -3, 3] TR Ty A

J"ﬂﬂﬁ“ﬂ[x 2-x%), 2<x<2

| [x]] ;- 2alxl=3

flx) =

TR [x], A G A < x, (-3, 3) -7 W@ 3 LS £ @ 1391 203 M O HeL
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Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119105 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(21‘y2 y)dx +xdy=0, passes through the intersection of the lines, 2x -3y=1 and
3x +2y=8, then |y(1)[isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119105 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

MW 2x 3y =138 3y + 2y = 8 FREAAN H5A T A aBTR41 y = y(x), FAFARS Sawmw Faae
(20— y)dx +xdy =0 -9 4 W, A |y(1)| @I "I
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5 to 5.001

Question Number : 83 Question Id : 70819119106 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10,is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :
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TG 42 % REE Fedn ‘0, ICS 30470, 10 A FISF A CA MW T
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dx
.. ax—|e 1) ! ) : )
If lim — g ienisle and is equal to b, then the value of a—2b is
=0 ax(e™ 1)
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5 to 5.001
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4x

o TR daXx : ].] -
T th P IFE R bR TR, @ a-2b @ INEI .

0 ax(e™ - 1)
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5 to 5.001

Question Number : 85 Question Id : 70819119108 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the curves leﬂ and xy=k cut at right angles, then (4k)® is equal to
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T AT x =1 A2 xy =k S TR TH A, 0@ (P @ THEE
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5 to 5.001
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-

The value of _[ 3% —3x—-6|dx is .

e T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
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_[ 32 ~3x - 6|dx «a W= Z@
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If the remainder when x is divided by 4 is 3, then the remainder when (2020 + x)'Z is

divided by 8is
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3 x T3 4719 ©19 FA0A S0 3 7, A (2020 + 1202 @ S A O FAHA ORI
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A line 'T" passing through origin is perpendicular to the lines
. ;

it =B40i +(-1420] + (& +2k

e

it =0+2)i +(B+2)] +2+9k

[f the co-ordinates of the point in the first octant on ‘I;" at a distance of Jﬁ from the point
of intersection of ‘I' and ‘I;" are (a, b, ¢), then 18(a+b+c) isequalto .
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Evaluation Required For SA : Yes

Show Word Count: Yes
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3y T ‘] FAETaIA €

— A
r 2

it =@+8i +(1+20] + @+ 20k

l

it =(+2)i +(+25)] + Q2+ )k
A %A To 7 | A9 WA (octant) @ ‘1, @@ Te G Y T0F T @2 ‘] G TR
(b, o) 1@ 7 T Batbtc) @I
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819119112 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A line is a common tangent to the circle (x —3)?+1>=9 and the parabola y?=4x. If the two
points of contact (a, b) and (¢, d) are distinct and lie in the first quadrant, then 2(a +c) is
equal to
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(x -3 +12=9 78 @2 2 = 4y LT GF> FUR =i SR, ACFT =@ JAT (3, b) A2
(c, d) T8 92% @2 A4 #H SRS O@ 2a+c) @I,
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Question Number : 90 Question Id : 70819119113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
T = M 3k and L rH - k. If the area of the parallelogram whose

— —¥ :
3 X il ) X
adjacent sides are represented by the vectors a and b is 843 square units, then 3 - b is
equal to
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Correct Marks : 4 Wrong Marks : 0
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